
  Practice questions class 7th for Term-1 

Integers 

1) ਭ ੁੱ ਲ ਩ਤਾ ਕਰ੉(Find the value of): 25  5 X 5 

a) 25   b) 1   c) 0  d) 5 

2) ਷ਬ ਤੋਂ ਵੁੱ ਡੀ ਰਰਣਾਤਭਕ ਷ੰ਩ੂਰਨ ਷ੰਰਿਆ ਰਕਸੜੀ ਸੈ?(Which is the greatest negative integer?) 

 a) -100000000   b) -9999999999 c) – 1   d) 0  

 

 3)   (-12)-(-(-16))=? 

 a) – 28   b) – 4   c) 4  d) ਇਸਨਾਂ ਰਵੁੱ ਚੋਂ ਕ੉ਈ ਨਸੀਂ(none of these) 

4) ਦ੉ ਷ੰ਩ੂਰਨ ਷ੰਰਿਆਵਾਂ ਦਾ ਜ੉ੜ -6 ਸੈ। ਜੇਕਰ ਇੁੱ ਕ ਷ੰਰਿਆ -13 ਸੈ ਤਾਂ ਦੂ਷ਰੀ ਷ੰਰਿਆ ਩ਤਾ ਕਰ੉।  

      The sum of two integer is – 6. If first integer is 17, then find the other integer. 

 a) 7   b) -19   c) – 7   d) 13 

5)  16 ਨੰੂ ਰਕ਷ ਷ੰਰਿਆ ਨਾਲ ਗ ਣਾ ਕੀਤਾ ਜਾਵੇ ਰਕ ਗ ਣਨਪਲ – 240 ਩ਰਾ਩ਤ ਸ੉ਵੇ? 

      By which number should 16 be multiplied to obtain – 240 as product? 

 a) 30   b) – 15   c) 15  d) – 80 

6)   ie`k sMiKAw iv`coN 9 Gtwaux qy 40 pRwpq huMdw hY[ sMiKAw pqw kro       
    On subtracting 9 from a number, we get 40. Find the number. 

       1) 49            2) 45       3)  48      4)  51 

7)  The largest negative integer and the smallest positive integer when divided becomes ... 

sB qoN v`fI irxwqmk sMpUrn sMiKAw Aqy sB qoN CotI Dnwqmk sMpUrn sMiKAW nMU jdoN Bwg kIqw jWdw hY qW, bxygw… 

    a) 1  b) -1  c) 0   d)     can't be determined/pqw nhIN kIqw jw skdw 

Symmetry 

8)  ਸੇਠਾਂ ਰਦੁੱ ਤੇ ਅੁੱ ਿਰਾਂ ਰਵੁੱ ਚੋਂ ਰਕ਷ ਦੀ ਇੁੱ ਕ ਲੇਟਵੀਂ ਷ਭਰਭਤੀ ਰੇਿਾ ਸੈ?  

        Which of the following alphabets has a horizontal line of symmetry? 

 a) M   b) A   c) E  d) Z 

9) ਵਰਗ ਦੀ ਘ ੰ ਭਣ ਷ਭਰਭਤੀ ਦਾ ਕਰਭ ਕੀ ਸੈ? 

        What is the order of rotational symmetry of a square? 

 a) 0   b) 1   c) 2  d) 4 

10) ਷ਭਬ ਜੀ ਰਤਰਬ ਜ ਦੀ ਘ ੰ ਭਣ ਷ਭਰਭਤੀ ਦਾ ਕਰਭ ਕੀ ਸੈ?  



What is the angle of rotational symmetry of an equilateral triangle? 

 a) 900   b) 1200  c) 1800  d) 600 

11) ਸੇਠਾਂ ਰਦੁੱ ਤੇ ਅੁੱ ਿਰਾਂ ਰਵੁੱ ਚੋਂ ਰਕ਷ ਦੀ ਕ੉ਈ ਷ਭਰਭਤੀ ਰੇਿਾ ਨਸੀ ਸੈ?  

   Which of the following alphabets has no line of symmetry? 

 a) M   b) A   c) E  d) Z 

 

Fraction and Decimals 
12)  The given  figures represent . id`qy hoey icqr kI drsw rhy hn [ 

   a)             b)                 c)               d)    

13)  A ribbon of length  54
1m  is cut into small pieces each of length 

3

4
 m .Find the number of pieces ? 

ie`k irbn ijsdI lMbweI 54
1 mI. hY [irbn nUM 3

4
 mI.lMbweI vwly Coty tukiVAW iv`c k`itAw hY qW Coty tukiVAw dI igxqI pqw kro? 

       a) 6   b) 5   c) 7   d) 8 

14)  If a mixed fraction is converted into a fraction then its reciprocal will be . 
jykr iksy imSrq iBMn nUUM iBMn iv`c bdilAw jwvy qW ausdw au`lt kRm hovygw[ 

a) Improper fraction (A`nuicq iBMn)   b) Proper fraction (auic`q iBMn) 

c) Equal to itself (Awpxy Awp dy brwbr)  d) None of these (ienHW ivco koeI nhI ) 
 

15)  Which fraction representing the shaded part of the given square ? 
id`qy vrg iv`c rMgIn Bwg ikhVw iBMn drsw irhw hY? 

a) 
2

7
  b) 

2

4
   c) 

2

8
    d) 

1

8
 

16) smIrw  3
1

2
  iklogRwm syb Aqy 4 3

4
 iklogRwm sMqry KrIddI hY[ aus duAwrw KrIdy gey PlW dw k`ul Bwr pqw 

kro[ 

     Sameera bought 3
1

2
  Kg apples and 4

3

4
   Kg oranges. Find the total weight of fruits she bought. 

(1) 4
1

8
 iklogRwm ( Kilogram)             (2) 7

3

8
 iklogRwm ( Kilogram) 

(3) 8 iklogRwm ( Kilogram)               (4) 8
1

4
 iklogRwm ( Kilogram) 

17)  125 ਭੀਟਰ, ਇੁੱ ਕ ਰਕਲ੉ਭੀਟਰ ਦਾ ਰਕੰਨਵਾਂ ਰਸੁੱ ਷ਾ ਦਰ਷ਾਉਂਦੇ ਸਨ?   What fraction do 125 meters of a kilomete 

represents? 

 a) 
1

8
   b) 

1

4
   c) 

8

60
  d) 

2

3
 

18) ਸਰਰੰਦਰ 1 ਰਦਨ ਰਵੁੱ ਚ ਇੁੱ ਕ ਨਾਵਲ ਦਾ 1

7
 ਬਾਗ ਩ੜਹਦਾ ਸੈ। 2 2

5
 ਰਦਨਾਂ ਰਵੁੱਚ ਉਸ ਨਾਵਲ ਦਾ ਰਕੰਨਾ ਬਾਗ ਩ੜਹੇਗਾ? 

    Harinder reads 
1

7
 part of a novel in 1 day. How much part of the novel will he read in 2

2

5
 hours? 

 a) 
12

7
   b) 

35

7
   c) 

12

35
  d) 

12

5
 

Comparing Quantities 

19)  ਅਨ ਩ਾਤ ਩ਤਾ ਕਰ੉: 50 ਗਰਾਭ ਦਾ 1 ਰਕਲ੉ਗਰਾਭ ਨਾਲ 

        Find the ratio of : 50 grams to 1 kilogram 

 a) 1 : 20  b) 1 : 2   c) 20 : 1 d) 2 : 1 



20)  ਜੇਕਰ 8 ਰਕਤਾਫਾਂ ਦੀ ਕੀਭਤ 360 ਰ ਩਋ ਸੈ, ਤਾਂ ਅਰਜਰਸਆਂ 12 ਰਕਤਾਫਾਂ ਦੀ ਕੀਭਤ (ਰ ਩਋ ਰਵੁੱ ਚ) ਩ਤਾ ਕਰ੉। 

       If the cost of 8 books is Rs. 360, then find the cost of 12 such books(in rupees). 

 a) 720   b) 540   c) 480  d) 360 

21)  60% ਨੰੂ ਰਬੰਨ ਰਵੁੱ ਚ ਫਦਲ੉.   Express 60% as fraction. 

 a) 
3

5
   b) 

1

5
   c) 

3

20
  d) 

2

5
 

22)  ਜੇਕਰ y ਦਾ 25% = 35 ਸ੉ਵੇ ਤਾਂ y ਦਾ ਭ ੁੱ ਲ ਕੀ ਸ੉ਵੇਗਾ? 

       If 25% of y is 35, then y is equal to: 

 a) 70   b) 140   c) 360  d) 280 

23)  ਜੇਕਰ ਗ੊ਰਵ ਇੁੱ ਕ ਭੇਜ 250 ਰ ਩਋ ਦੀ ਿਰੀਦਦਾ ਸੈ ਅਤੇ 300 ਰ ਩਋ ਦੀ ਵੇਚ ਰਦੰਦਾ ਸੈ ਤਾਂ ਉ਷ਦਾ ਲਾਬ ਩ਰਤੀਸ਼ਤ ਩ਤਾ 
ਕਰ੉। 
If Gaurav buys a table for Rs. 250 and sells it for Rs. 300, then his gain percentage is: 

 a) 20%   b) 25%   c) 40%  d) 125% 

24)  2500 ਰ ਩਋ ਤੇ 6% ਦੀ ਷ਲਾਨਾ ਦਰ ਨਾਲ 2 ਷ਾਲ ਦਾ ਷ਾਧਾਰਨ ਰਵਆਜ ਰਕੰਨਾ ਸੈ? 

The simple interest on Rs. 2500 at 6% p.a. for two years is: 

 a) Rs. 600  b) Rs. 1200  c) Rs. 800 d) Rs. 250 

Rational Numbers 

25)  ਸੇਠ ਰਲਰਿਆਂ ਰਵੁੱ ਚੋਂ ਰਕਸੜਾ ਗਲਤ ਸੈ? Which of the following is incorrect? 

 a) 0 >
−3

4
  b) 0 <

3

7
   c) 0 =

0

9
 d) 0<

−7

10
   

26) ਜੇਕਰ 
5

8
=

?

24
 , ਤਾਂ ‘?’ ਦਾ ਭ ੁੱ ਲ ਸ੉ਵੇਗਾ:   (If 

5

8
=

?

24
 , then value of ‘?’ will be): 

 a) 5   b) 12   c) 15  d) 24 

27) ਭ ੁੱ ਲ ਩ਤਾ ਕਰ੉(Find the value of): 
−6

25
×

−5

12
 

 a) 
1

5
   b) 

4

5
   c) 

1

10
  d) 

2

5
 

28)  
−5

9
 ਰਵੁੱ ਚੋਂ ਰਕਸੜੀ ਷ੰਰਿਆ ਘਟਾਈ਋ ਰਕ 5

9
 ਩ਰਾ਩ਤ ਸ੉ ਜਾਵੇ?  What numbger should be subtracted from 

−5

9
 to get 

5

9
 ? 

 a) 
−10

9
   b) 

10

9
   c) 

5

9
  d) 0 

29) 
−6

11
,
−4

11
,
−1

11
 ਨੰੂ ਘਟਦੇ ਕਰਭ ਰਵੁੱ ਚ ਰਲਿ੉.    Write  

−6

11
,
−4

11
,
−1

11
  in descending order. 

 a) 
−1

11
,
−6

11
,
−4

11
  b) 

−6

11
,
−1

11
,
−4

11
  c) 

−6

11
,
−4

11
,
−1

11
 d) 

−1

11
,
−4

11
,
−6

11
 

 



Exponents and Powers 

30) Which is greater 23 or  32? 23 ਅਤ ੇ32 ਰਵਚੋਂ ਰਕਸੜਾ ਵੁੱਡਾ ਸੈ 

 a) 23 b) 32 c) both are equal(ਦ੉ਨੋਂ  ਫਰਾਫਰ ਸਨ) d) none of these(ਇਸਨਾਂ ਰਵੁੱ ਚੋਂ ਕ੉ਈ ਨਸੀ)  

31)  𝑥 ਦਾ ਭ ੁੱ ਲ ਩ਤਾ ਕਰ੉।(Find the value of 𝑥):     3𝑥 = 243 

 a) 5   b) 9   c) 81  d) 3 

32)   6 × 6 × 6 × 6 ਫਰਾਫਰ ਸੈ:      Value of 6 × 6 × 6 × 6 is:  

 a) 64   b) 46   c) 24  d) 36 

33) Which option is correct?(ਰਕਸੜਾ ਰਵਕਲ਩ ਷ਸੀ ਸੈ?) 

 a) 310×312=3120
 b) 310×312=312

 c) 310×312=322
 d) 310×312=310

 

34) The number by which 33 must be multiplied to get 39 is: 

33 ਨੰੂ ਰਕਸੜੀ ਷ੰਰਿਆ ਨਾਲ ਗ ਣਾ ਕੀਤੀ ਜਾਵੇ ਰਕ 37 ਆ ਜਾਵੇ : 

a) 33   b) 32   c) 36  d) 313 

Lines and Angles 

35)  73° ਦਾ ਷ੰ਩ੂਰਕ ਕ੉ਣ ਩ਤਾ ਕਰ੉।     Find the supplementary angle of 73°. 

 a) 287°  b) 17°   c) 107°  d) 127° 

36)  AB ਇੁੱ ਕ ਷ਰਲ ਰੇਿਾ ਸੈ, O ਇ਷ ਰੇਿਾ ਤੇ ਇੁੱ ਕ ਰਫੰਦੂ ਸੈ ਤਾਂ ∠AOB ਦਾ ਭਾ਩ ਩ਤਾ ਕਰ੉। 

          AB is straight line. O is a point on this line. Find the measure of ∠AOB.  

 a)  180°  b) 360°  c) 90°  d) 100° 

37)  ਉਸ ਕ੉ਣ ਩ਤਾ ਕਰ੉ ਜ੉ ਆ਩ਣੇ ਩ੂਰਕ ਕ੉ਣ ਦੇ ਫਰਾਫਰ ਸੈ।   

           Find the angle which is equal to its complementary angle. 

 a)  90°  b) 60°   c) 30°  d) 45° 

38)  ∠𝐴 ਦੇ ਩ੂਰਕ ਕ੉ਣ ਦਾ ਭਾ਩  𝑥  ਸੈ,  ∠𝐴 ਦਾ ਭਾ਩  ਸ੉ਵੇਗਾ: 

If the measure of the angle complementary to ∠𝐴 is x, the measure of ∠𝐴  is: 

 a)  90° + x b) 90°   c) 90° - x  d) x° 

39)  ਜੇਕਰ ਷ੰ਩ੂਰਕ ਕ੊ਣਾਂ ਦੇ ਜ੉ੜੇ ਦਾ ਇੁੱ ਕ ਕ੉ਣ ਰਨਊਨ ਕ੉ਣ ਸੈ ਤਾਂ ਦੂ਷ਰਾ ਕ੉ਣ ਸ੉ਵੇਗਾ:  



       If one angle of a supplementary angles is acute , then the other angle is: 

 a) ਰਨਊਨ ਕ੉ਣ(Acute angle)   c) ਅਰਧਕ ਕ੉ਣ(Obtuse angle) 

 c) ਷ਭਕ੉ਣ(Right angle)    d) ਷ਰਲ ਕ੉ਣ(Straight angle) 

40)      
ਦ ਿੱ ਤੇ ਦ ਿੱ ਤਰ ਦ ਿੱ   x  ਾ ਮ ਿੱ ਲ ਹੈ : In the given figure find the value of x. 

      a)  90°  b) 60°   c) 30°  d) 80° 

 

Visualising Solid Shapes 

41) ਸ਼ੰਕੂ ਰਵੁੱ ਚ ਲੇਟਵੇਂ ਕੁੱ ਟ ਨਾਲ ਫਣੇ ਦ ਷ਾਰ ਕਾਟ ਦਾ ਨਾਂ ਦੁੱ ਷੉।  

          What Cross section is made by horizontal cut in a cone? 

 a) ਵਰਗ (Square)    b) ਆਇਤ(Rectangle)  

c) ਚੁੱਕਰ(Circle)     d) ਰਤਰਬ ਜ(Triangle) 

42) ਇੁੱਕ ਫੇਲਨ ਦੇ ਰਕੰਨੇ ਪਲਕ ਸ ੰ ਦੇ ਸਨ? How many faces are there in a cylinder? 

a) 1  b) 2  c) 3  d) 4 

43) ਸੇਠਾਂ ਰਲਿੀਆਂ ਰਵੁੱ ਚੋਂ ਰਕਸੜੀ ਉਦਾਸਰਨ ਗ੉ਲੇ ਦੇ ਆਕਾਰ ਨੰੂ ਦਰ਷ਾਉਦੀਂ ਸੈ? 

      Which of the following is an example of sphere? 

 a) ਕੜਾ(Bangle) b) ਰਗਲਾ਷(Glass) c) ਩ੈੈੱਨ(Pen)  d) ਗੇਂਦ(Ball) 

44) ਸੇਠਾਂ ਰਦੁੱ ਰਤਆਂ ਰਵਚੋਂ ਰਕਸੜਾ 3 ਩਷ਾਰੀ ਸੈ?   Which of the following is a three dimensional figure? 

 a) ਵਰਗ (Square)    b) ਰਤਕ੉ਣ(Triangle)  

c) ਗ੉ਲਾ(sphere)    d) ਚੁੱ ਕਰ(circle) 

 

45) ਰਦੁੱ ਤੇ ਠੋ਷ ਰਵੁੱ ਚ ਘਣਾਂ ਦੀ ਰਗਣਤੀ ਦੁੱ ਷੉. 

        The number of cubes in the given structure is:  

 a) 12   b) 10   c) 9  d) 8 

 

 


